»

(15%)

1 =¥125 90 1 =¥120 (13%)
a
b. 10% 8%
A B
A $2.00
4% A $20( ) B
( B ) B
A 80% B (15%)

Bond pricing: (16%)
a. A newly issued 2-year maturity, zero-coupon bond isissued with ayield to
maturity of 8% and face value $1,000. Find the bond’sissuing price.
b. A bond hasacurrent yield of 9% and ayield to maturity of 10%. Is the bond
selling above or below par value? Explain.

A three-asset portfolio has the following characteristics: (16%)
Asset  Expected Standard Weight Correlation Correlation

Return  Deviation betweenY  between Z
return return
X 15% 22% 0.50 0.3 0.2
Y 10% 15% 0.40 1 0.4
Z 6% 10% 0.10 0.4 1

a. What isthe expected return on this portfolio?
b. What isthe standard deviation of the portfolio return?



6. Consider the following two mutually exclusive projects. (Your required return on
investment is 15 percent).
(TOTAL 25 POINTS)

=)

Year Cash Flow (A) Cash Flow (B)
0 -$170,000 -$18,000
1 10,000 10,000
2 25,000 6,000
3 25,000 10,000
4 380,000 8,000

If you apply the payback criterion, which investment will you choose? Why?
If you apply the discounted payback criterion, which investment will you
choose? Why?

If you apply the NPV criterion, which investment will you choose? Why?

If you apply the IRR criterion, which investment will you choose? Why?
Based on your answersin (a) through (d), which project will you finally
choose? Why? (That is, what criterion is the best in this case? And Why?)



